SMALL BUSINESS ENTERPRISE ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: JUNE 4, 2025 AT 2:00 PM

CONTRACT ID: D13POC.RE.23181

WBS ELEMENT NO.: 13RE.101215, 13RE.101235, 13RE.201215, 13RE.201225

FEDERAL AID NO.: STATE FUNDED

COUNTY:

BURKE

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

UNDER THE PROVISIONS OF THIS PROGRAM, A N.C. GENERAL CONTRACTOR'S LICENSE IS NOT REQUIRED AND CONTRACT PAYMENT AND CONTRACT PERFORMANCE BONDS IS NOT REQUIRED. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS, INCLUDING BUT NOT LIMITED TO, THOSE REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

Church Rd. Vadkinville

Contract Number:

D13POC.RE.23181

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.101235, 13RE.101215, 13RE.201215, 13RE.201225

Description:

Long Arm Mowing Upon Request

TOTAL BID FOR PROJECT: 184,926.

County:

Burke

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Long Arm Mowing with Truck Mounted Impact Attenuator (TMIA) - Interstate Routes	54	SMI	238 .00	12,852.00
2	SP	Long Arm Mowing with Truck Mounted Attenuator (TMIA)- Divided Primary Routes	10	SMI	238.00	2380.00
3	SP	Long Arm Mowing - Undivided Primary Routes	247	SMI	238.00	58,786.°
4	SP	Long Arm Mowing - Secondary Routes	466	SMI	238.00	110,908.00

Contractor: Veactation Management Specialist	MC.
Contractor: Vegetation Management Specialist, Address: 3250 Union Cross Church Rd. Yaakinv	IIIC NC 27055
Phone: 334-941-2747 Federal Id: 27	
Contractor's License Number:	
Authorized Agent: EVAN ANGESON	Title: Dresiclent
Signature:	Title: <u>DresicleN+</u> Date: 5-27-25

SMALL BUSINESS ENTERPRISE ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: JUNE 4, 2025 AT 2:00 PM

CONTRACT ID: D13POC.RE.23181

WBS ELEMENT NO.: 13RE.101215, 13RE.101235, 13RE.201215, 13RE.201225

FEDERAL AID NO.: STATE FUNDED

COUNTY:

BURKE

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

UNDER THE PROVISIONS OF THIS PROGRAM, A N.C. GENERAL CONTRACTOR'S LICENSE IS NOT REQUIRED AND CONTRACT PAYMENT AND CONTRACT PERFORMANCE BONDS IS NOT REQUIRED. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS, INCLUDING BUT NOT LIMITED TO, THOSE REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

RWR FORESTRY

NAME OF BIDDER

182 BASKIN HILLS RD LEXINGTON, SC 29072

ADDRESS OF BIDDER

Contract Number:

D13POC.RE.23181

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.101235, 13RE.101215, 13RE.201215, 13RE.201225

Description:

Long Arm Mowing Upon Request

County:

Burke

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Long Arm Mowing with Truck Mounted Impact Attenuator (TMIA) - Interstate Routes	54	SMI	325	17,550
2	SP	Long Arm Mowing with Truck Mounted Attenuator (TMIA)- Divided Primary Routes	10	SMI	325	3900
3	SP	Long Arm Mowing - Undivided Primary Routes	247	SMI	300	74,100
4	SP	Long Arm Mowing - Secondary Routes	466	SMI	300	139,800

TOTAL BID FOR PROJECT: \$235,350- \$ 234,700

Contractor: RWR FORESTRY

Address: 182 BASKIN HILLS RD

Phone: 803-546-6032 Federal Id: 83-4583047

Contractor's License Number: N/A

Authorized Agent: JAMES SANDERSON Title: PRESIDENT

Signature: Date: 5/26/25

SMALL BUSINESS ENTERPRISE ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: JUNE 4, 2025 AT 2:00 PM

CONTRACT ID: D13POC.RE.23181

WBS ELEMENT NO.: 13RE.101215, 13RE.101235, 13RE.201215, 13RE.201225

FEDERAL AID NO.: STATE FUNDED

COUNTY:

BURKE

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

UNDER THE PROVISIONS OF THIS PROGRAM, A N.C. GENERAL CONTRACTOR'S LICENSE IS NOT REQUIRED AND CONTRACT PAYMENT AND CONTRACT PERFORMANCE BONDS IS NOT REQUIRED. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS, INCLUDING BUT NOT LIMITED TO, THOSE REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

ADDRESS OF BIDDER

Contract Number: D13POC.RE.23181

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.101235, 13RE.101215, 13RE.201215, 13RE.201225

Description:

Long Arm Mowing Upon Request

County:

Burke

TOTAL BID FOR PROJECT:

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Long Arm Mowing with Truck Mounted Impact Attenuator (TMIA) - Interstate Routes	54	SMI	320	17280
2	SP	Long Arm Mowing with Truck Mounted Attenuator (TMIA)- Divided Primary Routes	10	SMI	320	3200
3	SP	Long Arm Mowing - Undivided Primary Routes	247	SMI	320	79040
4	SP	Long Arm Mowing - Secondary Routes	466	SMI	300	139800

Contractor: Little J's Enterprise ILC
Address: Y.O. BOX 1527 Forest City NC 28043
Phone: <u>\$\frac{3}{2}\$ - 429 - 5722</u> Federal Id: <u>46 - 2992143</u>
Contractor's License Number:
Authorized Agent: Title: Meg Member
Signature: Date: 6/3/25

SMALL BUSINESS ENTERPRISE ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: JUNE 4, 2025 AT 2:00 PM

CONTRACT ID: D13POC.RE.23181

WBS ELEMENT NO.: 13RE.101215, 13RE.101235, 13RE.201215, 13RE.201225

FEDERAL AID NO.: STATE FUNDED

COUNTY:

BURKE

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

UNDER THE PROVISIONS OF THIS PROGRAM, A N.C. GENERAL CONTRACTOR'S LICENSE IS NOT REQUIRED AND CONTRACT PAYMENT AND CONTRACT PERFORMANCE BONDS IS NOT REQUIRED. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS, INCLUDING BUT NOT LIMITED TO, THOSE REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Equipment and Sales, Inc.

Sweetwater Road, Robbinsville, NC 28771

Contract Number:

D13POC.RE.23181

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.101235, 13RE.101215, 13RE.201215, 13RE.201225

Description:

Long Arm Mowing Upon Request

County:

Burke

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Long Arm Mowing with Truck Mounted Impact Attenuator (TMIA) - Interstate Routes	54	SMI	415.00	25,650,W
2	SP	Long Arm Mowing with Truck Mounted Attenuator (TMIA)- Divided Primary Routes	10	SMI	475,00	4,750,00
3	SP	Long Arm Mowing - Undivided Primary Routes	247	SMI		86,450,00
4	SP	Long Arm Mowing - Secondary Routes	466	SMI	325,00	151,450,00

TOTAL BID FOR PROJECT: # 268, 300, W

Contractor: LOVIN Equipment and Sales, Inc.

Address: 756 Sweetwater Road, Robbinsville, NC 38171

Phone: 828.479.4788 Federal Id: 06-1676329

Contractor's License Number: NA

Authorized Agent: Brandon K. Lovin

Title: Vice - President

Date: 06/03/2025

Signature: B.K. hi

SMALL BUSINESS ENTERPRISE ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: JUNE 4, 2025 AT 2:00 PM

CONTRACT ID: D13POC.RE.23181

WBS ELEMENT NO.: 13RE.101215, 13RE.101235, 13RE.201215, 13RE.201225

FEDERAL AID NO.: STATE FUNDED

COUNTY:

BURKE

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

UNDER THE PROVISIONS OF THIS PROGRAM, A N.C. GENERAL CONTRACTOR'S LICENSE IS NOT REQUIRED AND CONTRACT PAYMENT AND CONTRACT PERFORMANCE BONDS IS NOT REQUIRED. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS, INCLUDING BUT NOT LIMITED TO, THOSE REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

914 East Buffal Rd Robbinsville NX 28771

ADDRESS OF BIDDER

Contract Number:

D13POC.RE.23181

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.101235, 13RE.101215, 13RE.201215, 13RE.201225

Description:

Long Arm Mowing Upon Request

TOTAL BID FOR PROJECT: \$281,550.00

County:

Burke

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Long Arm Mowing with Truck Mounted Impact Attenuator (TMIA) - Interstate Routes	54	SMI	\$500.00	\$77,000.00
2	SP	Long Arm Mowing with Truck Mounted Attenuator (TMIA)- Divided Primary Routes	10	SMI	\$500.00	\$5,000.00
3	SP	Long Arm Mowing - Undivided Primary Routes	247	SMI	\$350.00	\$86,450.00
4	SP	Long Arm Mowing - Secondary Routes	466	SMI	\$350.00	\$163,100.00

Contractor: MUHCO Contracting Inc	
Address: 914 East Buffalo LA Robbinswille n	UC 2877/
Phone: 818-735-0861 Federal Id: 88-	- 450 7833
Contractor's License Number:	
Authorized Agent: Styler Mathoson	Title: Project manage
Signature:	Date: 6-3-25

SMALL BUSINESS ENTERPRISE ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: JUNE 4, 2025 AT 2:00 PM

CONTRACT ID: D13POC.RE.23181

WBS ELEMENT NO.: 13RE.101215, 13RE.101235, 13RE.201215, 13RE.201225

FEDERAL AID NO.: STATE FUNDED

COUNTY:

BURKE

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

UNDER THE PROVISIONS OF THIS PROGRAM, A N.C. GENERAL CONTRACTOR'S LICENSE IS NOT REQUIRED AND CONTRACT PAYMENT AND CONTRACT PERFORMANCE BONDS IS NOT REQUIRED. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS, INCLUDING BUT NOT LIMITED TO, THOSE REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

1535 RANGER Rd. MURPHY, NC 28906 ADDRESS OF BIDDER

Contract Number: D13POC.RE.23181

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.101235, 13RE.101215, 13RE.201215, 13RE.201225

Description:

Long Arm Mowing Upon Request

County:

Burke

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Long Arm Mowing with Truck Mounted Impact Attenuator (TMIA) - Interstate Routes	54	SMI	500.00	27,000.00
2	SP	Long Arm Mowing with Truck Mounted Attenuator (TMIA)- Divided Primary Routes	10	SMI		5,000.00
3	SP	Long Arm Mowing - Undivided Primary Routes	247	SMI	425.00	104,975.
4	SP	Long Arm Mowing - Secondary Routes	466	SMI	385.00	179,410.

Contractor: Matthe	W CHASE MCRAE	DRA: MATT	MONE CONT	WH (TIN)

Address: 1535 RANGER Rd. MURPHY, NC 28906

Phone: 828 36/ 7135 Federal Id: 55# 243-89-0474

Contractor's License Number: VEN DOR #5300

Authorized Agent: MATTHEW CHASE MICKAE Title: OWNER

Signature: Mathew Chase Major Date: 6-3-2025